Monday 1st March 2021 -L.O. To recognise and use common homophones correctly. 
The difference between bear and bare:
Besides being the name of a big furry animal, bear functions as a verb. It means to tolerate, to carry something, or to endure.
Bare functions as an adjective or a verb. As an adjective, it can mean not clothed, naked, uncovered, or without. The verb bare means to reveal or open something to view.
	The grizzly ____ seemed friendly, but we wisely kept our distance.

	bear     bare

	It is too cold to go outside with ____ arms.

	bear     bare

	She could hardly _____ the thought of selling her beloved vintage car.

	bear     bare

	The cupboard was ____, there was no food in the house.
	bear     bare

	My favourite character in this story is the polar _____.

	bear     bare

	Harry couldn’t believe that he had ____ the race. 
	won   one

	Last night I only ate ___ chocolate bar after my dinner. 
	won   one

	My sister is only ___ year younger than I am. 
	won   one

	I ___ a prize at the school jujitsu competition. 
	won   one

	____ day I will go on holiday again. 
	won   one


 Choose the correct homophone for each sentence below.



